Math 302
Any answer without justification worths nothing

Quiz 3

25/ 10/ 2015

Name: ID #

Problem 1 (3 points): Find the length of the line given by

3
C = {(cos 2t, %sin%,sintcost), 0<t<n}.
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Problem 2 (4 points) Show that the tangent plane to the surface 72 D 3P

at the point Py = (1,—1,+/5) passes through the original. That is the equation of
the plane has the form az + by + cz = 0.
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Problem 3 (3 points) Find the dlrectlonal derivative of f(z,y) = 2z — zy at the
point Py = (1,—2) in the direction of u = (~ V3, 1).
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